# Stirling matrix via Pascal matrix <br> Gi-Sang Cheon ${ }^{\mathrm{a}, *}$, Jin-Soo Kim ${ }^{\text {b }}$ <br> ${ }^{\text {a }}$ Department of Mathematics, Daejin University, Pocheon 487-711, South Korea <br> ${ }^{\mathrm{b}}$ Department of Mathematics, Sungkyunkwan University, Suwon 440-746, South Korea <br> Received 11 May 2000; accepted 17 November 2000 <br> Submitted by R.A. Brualdi 


#### Abstract

The Pascal-type matrices obtained from the Stirling numbers of the first kind $s(n, k)$ and of the second kind $S(n, k)$ are studied, respectively. It is shown that these matrices can be factorized by the Pascal matrices. Also the LDU-factorization of a Vandermonde matrix of the form $V_{n}(x, x+1, \ldots, x+n-1)$ for any real number $x$ is obtained. Furthermore, some well-known combinatorial identities are obtained from the matrix representation of the Stirling numbers, and these matrices are generalized in one or two variables. © 2001 Elsevier Science Inc. All rights reserved.


AMS classification: 05A19;05A10
Keywords: Pascal matrix; Stirling number; Stirling matrix

## 1. Introduction

For integers $n$ and $k$ with $n \geqslant k \geqslant 0$, the Stirling numbers of the first kind $s(n, k)$ and of the second kind $S(n, k)$ can be defined as the coefficients in the following expansion of a variable $x$ (see [3, pp. 271-279]):

$$
[x]_{n}=\sum_{k=0}^{n}(-1)^{n-k} s(n, k) x^{k}
$$

and

[^0]\[

$$
\begin{equation*}
x^{n}=\sum_{k=0}^{n} S(n, k)[x]_{k}, \tag{1.1}
\end{equation*}
$$

\]

where

$$
[x]_{n}= \begin{cases}x(x-1) \cdots(x-n+1) & \text { if } n \geqslant 1,  \tag{1.2}\\ 1 & \text { if } n=0 .\end{cases}
$$

It is known that for an $n, k \geqslant 0$, the $s(n, k), S(n, k)$ and $[n]_{k}$ satisfy the following Pascal-type recurrence relations:

$$
\begin{align*}
& s(n, k)=s(n-1, k-1)+(n-1) s(n-1, k), \\
& S(n, k)=S(n-1, k-1)+k S(n-1, k),  \tag{1.3}\\
& {[n]_{k}=[n-1]_{k}+k[n-1]_{k-1},}
\end{align*}
$$

where $s(n, 0)=s(0, k)=S(n, 0)=S(0, k)=[0]_{k}=0$ and $s(0,0)=S(0,0)=1$, and moreover the $S(n, k)$ satisfies the following formula known as 'vertical' recurrence relation:

$$
\begin{equation*}
S(n, k)=\sum_{l=k-1}^{n-1}\binom{n-1}{l} S(l, k-1) . \tag{1.4}
\end{equation*}
$$

As we did for the Pascal triangle, we can define the Pascal-type matrices from the Stirling numbers of the first kind and of the second kind, respectively. A matrix representation of the Pascal triangle has catalyzed several investigations (see [1,2,4,6,7]).

The $n \times n$ Pascal matrix [4] (also see [2]), $P_{n}$, is defined by

$$
\left(P_{n}\right)_{i j}= \begin{cases}\binom{i-1}{j-1} & \text { if } i \geqslant j \\ 0 & \text { otherwise }\end{cases}
$$

More generally, for a nonzero real variable $x$, the Pascal matrix was generalized in $P_{n}[x]$ and $Q_{n}[x]$, respectively which are defined in [6] (also see [1]), and these generalized Pascal matrices were also extended in $\Phi_{n}[x, y]$ (see [7]) for any two nonzero real variables $x$ and $y$ where

$$
\left(\Phi_{n}[x, y]\right)_{i j}= \begin{cases}x^{i-j} y^{i+j-2}\binom{i-1}{j-1} & \text { if } i \geqslant j  \tag{1.5}\\ 0 & \text { otherwise }\end{cases}
$$

By the definition, we see that

$$
\begin{align*}
& P_{n}[x]=\Phi_{n}[x, 1], \quad Q_{n}[y]=\Phi_{n}[1, y], \\
& P_{n}=P_{n}[1]=Q_{n}[1]=\Phi_{n}[1,1] . \tag{1.6}
\end{align*}
$$

Moreover, it is known that

$$
\begin{equation*}
P_{n}^{-1}[x]=P_{n}[-x]=\left[(-1)^{i-j}\binom{i-1}{j-1} x^{i-j}\right], \tag{1.7}
\end{equation*}
$$

and in particular, $P_{n}^{-1}=P_{n}^{-1}[1]$.
In [6] and [7], the factorizations of $P_{n}[x], Q_{n}[x]$, and $\Phi_{n}[x, y]$ are obtained, respectively.

In Section 2, we study the Pascal-type matrices which will be called the Stirling matrices obtained from the Stirling numbers of the first kind $s(n, k)$ and second kind $S(n, k)$. As a consequence it is shown that such matrices can be factorized by the Pascal matrices. Also the LDU-factorization of a Vandermonde matrix of the form $V_{n}(x, x+1, \ldots, x+n-1)$ for any real number $x$ is obtained.

In Section 3, some well-known combinatorial identities are obtained from the matrix representation of the Stirling numbers.

Finally in Section 4, these matrices are generalized in one or two variables.

## 2. Stirling matrices of the second kind

For the Stirling numbers $s(i, j)$ and $S(i, j)$ of the first kind and of the second kind respectively, define $s_{n}$ and $S_{n}$ to be the $n \times n$ matrices by

$$
\left(s_{n}\right)_{i j}= \begin{cases}s(i, j) & \text { if } i \geqslant j, \\ 0 & \text { otherwise } .\end{cases}
$$

and

$$
\left(S_{n}\right)_{i j}= \begin{cases}S(i, j) & \text { if } i \geqslant j \\ 0 & \text { otherwise }\end{cases}
$$

We call the matrices $s_{n}$ and $S_{n}$ Stirling matrix of the first kind and of the second kind, respectively (see [5, p. 144]).

For example,

$$
s_{4}=\left[\begin{array}{cccc}
1 & 0 & 0 & 0 \\
1 & 1 & 0 & 0 \\
2 & 3 & 1 & 0 \\
6 & 11 & 6 & 1
\end{array}\right] \text { and } S_{4}=\left[\begin{array}{llll}
1 & 0 & 0 & 0 \\
1 & 1 & 0 & 0 \\
1 & 3 & 1 & 0 \\
1 & 7 & 6 & 1
\end{array}\right]
$$

From now on, we will use the notation $\oplus$ for the direct sum of two matrices.
Using the definition of $S_{n}$, we can derive the following matrix representation from (1.1):

$$
\begin{equation*}
X_{n}=\left([1] \oplus S_{n-1}\right) F_{n}, \tag{2.1}
\end{equation*}
$$

where $X_{n}=\left[1 x \ldots x^{n-1}\right]^{\mathrm{T}}$ and $F_{n}=\left[[x]_{0}[x]_{1} \ldots[x]_{n-1}\right]^{\mathrm{T}}$.
In this section, we mainly study Stirling matrix $S_{n}$ of the second kind since

$$
\begin{equation*}
S_{n}^{-1}=\left[(-1)^{i-j} s(i, j)\right] \text { or } s_{n}^{-1}=\left[(-1)^{i-j} S(i, j)\right] \tag{2.2}
\end{equation*}
$$

First, we will discuss for a factorization of $S_{n}$.
For the $k \times k$ Pascal matrix $P_{k}$, we define the $n \times n$ matrix $\bar{P}_{k}$ by

$$
\bar{P}_{k}=\left[\begin{array}{cc}
I_{n-k} & O \\
O & P_{k}
\end{array}\right] .
$$

Thus, $\bar{P}_{n}=P_{n}$ and $\bar{P}_{1}$ is the identity matrix of order $n$.
Lemma 2.1. For the $n \times n$ Pascal matrix $P_{n}$,

$$
S_{n}=P_{n}\left([1] \oplus S_{n-1}\right)
$$

Proof. For each $i$ and $j$ with $i \geqslant j \geqslant 1$, since the $(i, j)$-entry of $[1] \oplus S_{n-1}$ is $S(i-1, j-1)$, from the definition of the matrix product and (1.4), we get

$$
\begin{aligned}
\left(P_{n}\left([1] \oplus S_{n-1}\right)\right)_{i j} & =\sum_{l=j-1}^{i-1} p_{i l+1} S(l, j-1) \\
& =\sum_{l=j-1}^{i-1}\binom{i-1}{l} S(l, j-1)=S(i, j)=\left(S_{n}\right)_{i j} .
\end{aligned}
$$

For example,

$$
S_{4}=\left[\begin{array}{llll}
1 & 0 & 0 & 0 \\
1 & 1 & 0 & 0 \\
1 & 2 & 1 & 0 \\
1 & 3 & 3 & 1
\end{array}\right]\left[\begin{array}{llll}
1 & 0 & 0 & 0 \\
0 & 1 & 0 & 0 \\
0 & 1 & 1 & 0 \\
0 & 1 & 3 & 1
\end{array}\right] .
$$

The following theorem is an immediate consequence of Lemma 2.1.
Theorem 2.2. The Stirling matrix $S_{n}$ of the second kind can be factorized by the Pascal matrices $\bar{P}_{k}$ 's:

$$
S_{n}=\bar{P}_{n} \bar{P}_{n-1} \cdots \bar{P}_{2} \bar{P}_{1}
$$

For example,

$$
S_{4}=\left[\begin{array}{llll}
1 & 0 & 0 & 0 \\
1 & 1 & 0 & 0 \\
1 & 2 & 1 & 0 \\
1 & 3 & 3 & 1
\end{array}\right]\left[\begin{array}{llll}
1 & 0 & 0 & 0 \\
0 & 1 & 0 & 0 \\
0 & 1 & 1 & 0 \\
0 & 1 & 2 & 1
\end{array}\right]\left[\begin{array}{llll}
1 & 0 & 0 & 0 \\
0 & 1 & 0 & 0 \\
0 & 0 & 1 & 0 \\
0 & 0 & 1 & 1
\end{array}\right] .
$$

We now turn our attention to the special matrices which can be expressed by the Stirling matrices.

It is easy to see that Lemma 2.1 and (2.1) lead to

$$
\begin{equation*}
(x+1)^{n}=\sum_{k=0}^{n} S(n+1, k+1)[x]_{k} \tag{2.3}
\end{equation*}
$$

for each $n=0,1, \ldots$ Thus (2.1) and (2.3) suggest how the Vandermonde matrix which is defined by the following way can be factorized.

Define $V_{n}(x)$ to be the $n \times n$ Vandermonde matrix by

$$
V_{n}(x):=V_{n}(x, x+1, \ldots, x+n-1)
$$

$$
=\left[\begin{array}{cccc}
1 & 1 & \cdots & 1 \\
x & x+1 & \cdots & x+n-1 \\
x^{2} & (x+1)^{2} & \cdots & (x+n-1)^{2} \\
\vdots & \vdots & & \vdots \\
x^{n-1} & (x+1)^{n-1} & \cdots & (x+n-1)^{n-1}
\end{array}\right],
$$

and use the definition of $[x]_{n}$ in (1.2) to define the $n \times n$ matrix $L_{n}$ by

$$
\left(L_{n}\right)_{i j}= \begin{cases}{[i-1]_{j-1}} & \text { if } i \geqslant j \\ 0 & \text { otherwise }\end{cases}
$$

For example,

$$
L_{4}=\left[\begin{array}{llll}
1 & 0 & 0 & 0 \\
1 & 1 & 0 & 0 \\
1 & 2 & 2 & 0 \\
1 & 3 & 6 & 6
\end{array}\right] .
$$

By a simple computation we obtain

$$
\begin{equation*}
L_{n}=P_{n} D_{n}, \tag{2.4}
\end{equation*}
$$

where $D_{n}=\operatorname{diag}(1,1,2!, \ldots,(n-1)!)$. Thus, we have

$$
L_{n}^{-1}=D_{n}^{-1} P_{n}^{-1}=\left[(-1)^{i-j} \frac{1}{(i-1)!}\binom{i-1}{j-1}\right] .
$$

Applying the binomial theorem, it is easy to show that for any real number $x$ and for the Pascal matrix $P_{n}$,

$$
P_{n} V_{n}(x)=V_{n}(x+1)
$$

Thus, we have

$$
\operatorname{det} V_{n}(x)=\operatorname{det} V_{n}(x+1)
$$

Lemma 2.3. For the $n \times n$ Stirling matrix $S_{n}$ of the second kind,

$$
V_{n}(1)=S_{n} L_{n}^{\mathrm{T}}
$$

Proof. Applying (1.1) and (1.3) for each $i, j=1,2, \ldots, n$, we have

$$
\begin{aligned}
\left(S_{n} L_{n}^{\mathrm{T}}\right)_{i j} & =\sum_{k=1}^{i} S(i, k)[j-1]_{k-1} \\
& =\sum_{k=1}^{i}\{S(i-1, k-1)+k S(i-1, k)\}[j-1]_{k-1} \\
& =\sum_{k=1}^{i}\left\{S(i-1, k-1)[j-1]_{k-1}+S(i-1, k) k[j-1]_{k-1}\right\}
\end{aligned}
$$

$$
\begin{aligned}
& =\sum_{k=1}^{i}\left[S(i-1, k-1)[j-1]_{k-1}+S(i-1, k)\left\{[j]_{k}-[j-1]_{k}\right\}\right] \\
& =\sum_{k=1}^{i-1} S(i-1, k)[j]_{k} \\
& =j^{i-1}=\left(V_{n}(1)\right)_{i j}
\end{aligned}
$$

since

$$
\sum_{k=1}^{i} S(i-1, k-1)[j-1]_{k-1}=\sum_{k=1}^{i} S(i-1, k)[j-1]_{k},
$$

which completes the proof.
In the following theorem, we obtain the LDU factorization of $V_{n}(x)$ for any real number $x$.

Theorem 2.4. For any real number $x$ and the generalized Pascal matrix $P_{n}[x]$ in (1.6),

$$
V_{n}(x)=\left(P_{n}[x-1] S_{n}\right) D_{n} P_{n}^{\mathrm{T}}
$$

Proof. From (2.4) and Lemma 2.3, for any real number $x$ we get

$$
\begin{aligned}
\left(\left(P_{n}[x-1] S_{n}\right) L_{n}^{\mathrm{T}}\right)_{i j} & =\left(P_{n}[x-1] V_{n}(1)\right)_{i j} \\
& =\sum_{k=0}^{i-1}\binom{i-1}{k}(x-1)^{i-1-k} j^{k}=(x+j-1)^{i-1} \\
& =\left(V_{n}(x)\right)_{i j} .
\end{aligned}
$$

For example,

$$
\begin{aligned}
V_{4}(x) & =\left[\begin{array}{cccc}
1 & 1 & 1 & 1 \\
x & x+1 & x+2 & x+3 \\
x^{2} & (x+1)^{2} & (x+2)^{2} & (x+3)^{2} \\
x^{3} & (x+1)^{3} & (x+2)^{3} & (x+3)^{3}
\end{array}\right] \\
& =\left[\begin{array}{cccc}
1 & 0 & 0 & 0 \\
x-1 & 1 & 0 & 0 \\
(x-1)^{2} & 2(x-1) & 1 & 0 \\
(x-1)^{3} & 3(x-1)^{2} & 3(x-1) & 1
\end{array}\right]\left[\begin{array}{llll}
1 & 0 & 0 & 0 \\
1 & 1 & 0 & 0 \\
1 & 3 & 1 & 0 \\
1 & 7 & 6 & 1
\end{array}\right]
\end{aligned}
$$

$$
\begin{aligned}
& \times\left[\begin{array}{llll}
1 & 0 & 0 & 0 \\
0 & 1 & 0 & 0 \\
0 & 0 & 2 & 0 \\
0 & 0 & 0 & 6
\end{array}\right]\left[\begin{array}{llll}
1 & 1 & 1 & 1 \\
0 & 1 & 2 & 3 \\
0 & 0 & 1 & 3 \\
0 & 0 & 0 & 1
\end{array}\right] \\
&=\left[\begin{array}{cccc}
1 & 0 & 0 & 0 \\
x & 1 & 0 & 0 \\
x^{2} & 2 x+1 & 1 & 0 \\
x^{3} & 3 x^{2}+3 x+1 & 3 x+3 & 1
\end{array}\right] \\
& \times\left[\begin{array}{llll}
1 & 0 & 0 & 0 \\
0 & 1 & 0 & 0 \\
0 & 0 & 2 & 0 \\
0 & 0 & 0 & 6
\end{array}\right]\left[\begin{array}{cccc}
1 & 1 & 1 & 1 \\
0 & 1 & 2 & 3 \\
0 & 0 & 1 & 3 \\
0 & 0 & 0 & 1
\end{array}\right] .
\end{aligned}
$$

Corollary 2.5. For any real number $x$,

$$
\operatorname{det} V_{n}(x)=\prod_{k=0}^{n-1} k!
$$

For the inverse of $V_{n}(x)$, from (1.7) and Theorem 2.4 we see that

$$
V_{n}(x)^{-1}=P_{n}^{\mathrm{T}}[-1] D_{n}^{-1} S_{n}^{-1} P_{n}[1-x] .
$$

## 3. Some combinatorial identities

In this section, we obtain some well-known identities for a Stirling number from its matrix representation.

Applying Theorem 2.4 for $x=1$, we obtain

$$
\begin{equation*}
S_{n}=V_{n}(1)\left(P_{n}^{-1}\right)^{\mathrm{T}} D_{n}^{-1} \tag{3.1}
\end{equation*}
$$

Computing the matrix product in (3.1) and comparing with the last row of $S_{n}$, we can obtain the following representation for $S(n, k)$, known as Stirling formula:

$$
S(n, k)=\frac{1}{(k-1)!} \sum_{t=1}^{k}(-1)^{k-t}\binom{k-1}{t-1} t^{n-1} \quad(k=1,2, \ldots, n) .
$$

Again applying (1.7) and (2.2) to Lemma 2.1, since

$$
\begin{equation*}
\left.s_{n}=\left([1] \oplus s_{n-1}\right]\right) P_{n}, \tag{3.2}
\end{equation*}
$$

by a simple matrix product, it is easy to see that the Stirling number $s(n, k)$ of the first kind satisfies the following 'horizontal' recurrence relation which gives other explicit formula for the $s(n, k)$ (see [5, p. 215)]

$$
s(n, k)=\sum_{l=k-1}^{n-1}\binom{l}{k-1} s(n-1, l) .
$$

Moreover, from Lemma 2.1 and (3.2), since

$$
P_{n}=S_{n}\left([1] \oplus s_{n-1}\right) \text { or } P_{n}=\left([1] \oplus S_{n-1}\right) s_{n}
$$

a binomial coefficient $\binom{n}{k}$ can be expressed by the Stirling numbers of the first kind and of the second kind as follows:

$$
\binom{n}{k}=\sum_{t=k}^{n}(-1)^{t-k} S(n+1, t+1) s(t, k)
$$

or

$$
\binom{n}{k}=\sum_{t=k}^{n}(-1)^{n-t} S(n, t) s(t+1, k+1)
$$

Finally, note that the Bell number $\omega(n)$ is defined by

$$
\omega(n)=\sum_{k=1}^{n} S(n, k), \quad n \geqslant 1 .
$$

By virtue of the matrix, the $i$ th Bell number $\omega(i)$ is just the sum of the entries in the $i$ th row of the Stirling matrix $S_{n}$ of the second kind. Thus, from Lemma 2.1 we get

$$
P_{n}\left[\begin{array}{llll}
1 & \omega(1) & \cdots & \omega(n-1)
\end{array}\right]^{\mathrm{T}}=\left[\begin{array}{llll}
\omega(1) & \omega(2) & \cdots & \omega(n)
\end{array}\right]^{\mathrm{T}} .
$$

More generally, if we note that for each $n=0,1, \ldots$

$$
\Delta^{m} \omega(n)=\sum_{k=0}^{m}(-1)^{m-k}\binom{m}{k} \omega(n+k) \quad(m=0,1, \ldots)
$$

where $\omega(0):=1$ and $\Delta$ is the difference operator which is defined by

$$
\Delta \omega(n)=\omega(n+1)-\omega(n) \quad \text { and } \quad \Delta^{m} \omega=\Delta\left(\Delta^{m-1} \omega\right) \quad(m=2,3, \ldots)
$$

by a simple matrix computation we get

$$
\begin{align*}
& P_{n}\left[\begin{array}{cccc}
\omega(0) & \omega(1) & \cdots & \omega(n-1) \\
\omega(1) & \omega(2) & \cdots & \omega(n) \\
\vdots & \vdots & \vdots & \vdots \\
\omega(n-1) & \omega(n) & \cdots & \omega(2 n-2)
\end{array}\right] \\
& =\left[\begin{array}{cccc}
\omega(1) & \Delta \omega(1) & \cdots & \Delta^{n-1} \omega(1) \\
\omega(2) & \Delta \omega(2) & \cdots & \Delta^{n-1} \omega(2) \\
\vdots & \vdots & \vdots & \vdots \\
\omega(n) & \Delta \omega(n) & \cdots & \Delta^{n-1} \omega(n)
\end{array}\right] . \tag{3.3}
\end{align*}
$$

From (3.3), for each $n=1,2, \ldots$ it is easy to establish the following identity:

$$
\begin{equation*}
\Delta^{m} \omega(n)=\sum_{k=0}^{n-1}\binom{n-1}{k} \omega(m+k) \quad(m=0,1, \ldots, n-1), \tag{3.4}
\end{equation*}
$$

where $\Delta^{0} \omega(n):=\omega(n)$.
In particular, from (3.4) we get the following well-known identities (see [5, pp. 210-211]):

$$
\omega(n)=\sum_{k=0}^{n-1}\binom{n-1}{k} \omega(k) \quad(n \geqslant 1)
$$

and

$$
\omega(n)=\Delta^{n} \omega(1) .
$$

## 4. Generalizations of the Stirling matrices

For any nonzero real number $x$, the $n \times n$ generalized Stirling matrix of the first kind $s_{n}[x]$ and of the second kind $S_{n}[x]$ are defined by

$$
\left(s_{n}[x]\right)_{i j}= \begin{cases}x^{i-j} s(i, j) & \text { if } i \geqslant j \\ 0 & \text { otherwise }\end{cases}
$$

and

$$
\left(S_{n}[x]\right)_{i j}= \begin{cases}x^{i-j} S(i, j) & \text { if } i \geqslant j, \\ 0 & \text { otherwise }\end{cases}
$$

By the definition, we see that $s_{n}[1]=s_{n}$ and $S_{n}[1]=S_{n}$.
Also, for the $k \times k$ generalized Pascal matrix $P_{k}[x]$ we define the $n \times n$ matrix $\bar{P}_{k}[x]$ by

$$
\bar{P}_{k}[x]=\left[\begin{array}{cc}
I_{n-k} & O \\
O & P_{k}[x]
\end{array}\right] .
$$

Since $s_{n}[1]=s_{n}$ and $S_{n}[1]=S_{n}$, it is easy to prove the following lemma.
Lemma 4.1. Let $x$ be a nonzero real number. Then
(a) $s_{n}^{-1}[x]=S_{n}[-x]$,
(b) $S_{n}^{-1}[x]=s_{n}[-x]$.

The following theorem follows from Lemmas 2.1 and 4.1.
Theorem 4.2. Let $x$ be a nonzero real number. Then
(a) $S_{n}[x]=P_{n}[x]\left([1] \oplus S_{n-1}[x]\right)$,
(b) $S_{n}[x]=\bar{P}_{n}[x] \bar{P}_{n-1}[x] \ldots \bar{P}_{2}[x] \bar{P}_{1}[x]$,
(c) $S_{n}^{-1}[x]=\bar{P}_{1}[-x] \bar{P}_{2}[-x] \ldots \bar{P}_{n-1}[-x] \bar{P}_{n}[-x]$.

For example,

$$
\begin{aligned}
S_{4}[x] & =\left[\begin{array}{cccc}
1 & 0 & 0 & 0 \\
x & 1 & 0 & 0 \\
x^{2} & 3 x & 1 & 0 \\
x^{3} & 7 x^{2} & 6 x & 1
\end{array}\right] \\
& =\left[\begin{array}{cccc}
1 & 0 & 0 & 0 \\
x & 1 & 0 & 0 \\
x^{2} & 2 x & 1 & 0 \\
x^{3} & 3 x^{2} & 3 x & 1
\end{array}\right]\left[\begin{array}{cccc}
1 & 0 & 0 & 0 \\
0 & 1 & 0 & 0 \\
0 & x & 1 & 0 \\
0 & x^{2} & 3 x & 1
\end{array}\right] .
\end{aligned}
$$

Again, if we define the $n \times n$ matrices $t_{n}[x]$ and $T_{n}[x]$ by

$$
\left(t_{n}[x]\right)_{i j}= \begin{cases}x^{i+j-2} s(i, j) & \text { if } i \geqslant j \\ 0 & \text { otherwise }\end{cases}
$$

and

$$
\left(T_{n}[x]\right)_{i j}= \begin{cases}x^{i+j-2} S(i, j) & \text { if } i \geqslant j \\ 0 & \text { otherwise }\end{cases}
$$

it is easy to see that the following theorem holds by the similar arguments for $s_{n}[x]$ and $S_{n}[x]$.

Theorem 4.3. Let $x$ be a nonzero real number. Then for the generalized Pascal matrices $P_{n}[x]$ and $Q_{n}[x]$ defined in (1.6), the following results hold:
(a) $t_{n}^{-1}[x]=T_{n}\left[-\frac{1}{x}\right]$,
(b) $T_{n}^{-1}[x]=t_{n}\left[-\frac{1}{x}\right]$,
(c) $t_{n}[x]=\left([1] \oplus s_{n-1}[x]\right) Q_{n}[x]$,
(d) $T_{n}[x]=Q_{n}[x]\left([1] \oplus S_{n-1}\left[\frac{1}{x}\right]\right)$,
(e) $t_{n}[x]=\bar{P}_{1}[x] \bar{P}_{2}[x] \ldots \bar{P}_{n-1}[x] Q_{n}[x]$,
(f) $T_{n}[x]=Q_{n}[x] \bar{P}_{n-1}\left[\frac{1}{x}\right] \ldots \bar{P}_{2}\left[\frac{1}{x}\right] \bar{P}_{1}\left[\frac{1}{x}\right]$,
(g) $t_{n}^{-1}[x]=\bar{Q}_{n}\left[-\frac{1}{x}\right] \bar{P}_{n-1}[-x] \ldots \bar{P}_{2}[-x] \bar{P}_{1}[-x]$,
(h) $T_{n}^{-1}[x]=\bar{P}_{1}\left[-\frac{1}{x}\right] \bar{P}_{2}\left[-\frac{1}{x}\right] \ldots \bar{P}_{n-1}\left[-\frac{1}{x}\right] \bar{Q}_{n}\left[-\frac{1}{x}\right]$.

Furthermore, for any two nonzero real numbers $x$ and $y$ we define the $n \times n$ matrices $\Psi_{n}[x, y]$ and $\Omega_{n}[x, y]$ by

$$
\left(\psi_{n}[x, y]\right)_{i j}= \begin{cases}x^{i-j} y^{i+j-2} s(i, j) & \text { if } i \geqslant j \\ 0 & \text { otherwise }\end{cases}
$$

and

$$
\left(\omega_{n}[x, y]\right)_{i j}= \begin{cases}x^{i-j} y^{i+j-2} S(i, j) & \text { if } i \geqslant j \\ 0 & \text { otherwise } .\end{cases}
$$

By the definition, we see that

$$
\begin{array}{ll}
\Omega_{n}[x, 1]=S_{n}[x], & \Omega_{n}[1, y]=T_{n}[y], \\
\Psi_{n}[x, 1]=s_{n}[x], & \Psi_{n}[1, y]=t_{n}[y] .
\end{array}
$$

It is easy to see that the following theorems hold by the similar arguments for $s_{n}[x]$ and $S_{n}[x]$.

Theorem 4.4. Let $x$ and $y$ be any nonzero real numbers. Then for the extended generalized Pascal matrix $\Phi_{n}[x, y]$ defined in (1.5), the following results hold:
(a) $\Omega_{n}[-x, y]=\Omega_{n}[x,-y]$,
(b) $\Psi_{n}[-x, y]=\Psi_{n}[x,-y]$,
(c) $\Omega_{n}^{-1}[x, y]=\Psi_{n}\left[-x, \frac{1}{y}\right]=\Psi_{n}\left[x,-\frac{1}{y}\right]$,
(d) $\Psi_{n}^{-1}[x, y]=\Omega_{n}\left[-x, \frac{1}{y}\right]=\Omega_{n}\left[x,-\frac{1}{y}\right]$,
(e) $\Omega_{n}[x, y]=\Phi_{n}[x, y]\left([1] \oplus S_{n-1}\left[\frac{x}{y}\right]\right)$,
(f) $\Psi_{n}[x, y]=\left([1] \oplus s_{n-1}[x y]\right) \Phi_{n}[x, y]$,
(g) $\Omega_{n}[x, y]=\Phi_{n}[x, y] \bar{P}_{n-1}\left[\frac{x}{y}\right] \ldots \bar{P}_{2}\left[\frac{x}{y}\right] \bar{P}_{1}\left[\frac{x}{y}\right]$,
(h) $\Psi_{n}[x, y]=\bar{P}_{1}[x y] \bar{P}_{2}[x y] \ldots \bar{P}_{n-1}[x y] \Phi_{n}[x, y]$,
(i) $\Psi_{n}^{-1}[x, y]=\Phi_{n}\left[x,-\frac{1}{y}\right] \bar{P}_{n-1}[-x y] \ldots \bar{P}_{2}[-x y] \bar{P}_{1}[-x y]$,
(j) $\Omega_{n}^{-1}[x, y]=\bar{P}_{1}\left[-\frac{x}{y}\right] \bar{P}_{2}\left[-\frac{x}{y}\right] \ldots \bar{P}_{n-1}\left[-\frac{x}{y}\right] \Phi_{n}\left[x,-\frac{1}{y}\right]$.

## References

[1] M. Bayat, H. Teimoori, The linear algebra of the generalized Pascal functional matrix, Linear Algebra Appl. 295 (1999) 81-89.
[2] R. Brawer, M. Pirovino, The linear algebra of the Pascal matrix, Linear Algebra Appl. 174 (1992) 13-23.
[3] R.A. Brualdi, Introductory Combinatorics, second ed., Elsevier, New York, 1991.
[4] G.S. Call, D.J. Velleman, Pascal's matrices, Amer. Math. Monthly 100 (1993) 372-376.
[5] L. Comtet, Advanced Combinatorics, Reidel, Dordrecht, 1974.
[6] Z. Zhizheng, The linear algebra of the generalized Pascal matrix, Linear Algebra Appl. 250 (1997) 51-60.
[7] Z. Zhizheng, M. Liu, An extention of the generalized Pascal matrix and its algebraic properties, Linear Algebra Appl. 271 (1998) 169-177.


[^0]:    * Corresponding author.

    E-mail addresses: gscheon@road.daejin.ac.kr (G.-S. Cheon), lion@math.skku.ac.kr (J.-S. Kim).

